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REASONING II ASSIGNMENT

In a certain code language 'JOURNAL' is written as 'MRXUQDO'. How
will ' TRAINING' be written in that code?

TOURNAL'  eaeiug 'MRXUQDO' etenr  womppri’ Lred 'TRAINING' — eaiiugi
eTeleUTml LOTMILD?

a. WUDHQLQJ b. WUDLQLQJ

c. WUDKQLQJ d. WUCLQLQJ

In a certain code language 'STEAMER' is written as "TUFBNFS'. How will
'HOUSE' be written in that code ?

'STEAMER' aieiiugy "TUFBNES' aienr  womimiiuc meo 'HOUSE' — eteiiugy  et6ileunm
LOTE@ILD?

a. IPVUF b. IPUTF c. IPVTF d. IPVSF

In a certain code language 'AWAKE!' is written as 'ZVZ]D'. How will 'TFRIEND'
be written in that code?

'AWAKE' @aeaiug 'ZVZID' een  wmpprucLmed 'FRIEND' — etesiugy)  eteileurmi
LoT@ID?

a. UQHDMF b. EQHDEM c. EQHDME d. EQHDMC

In a certain code language 'PUJA' is written as CFW]J'. How will 'RUBY be
written in that code?

'PUJA" aresugy ' CFW]' et omipiiu’Lmed 'RUBY ' ereiugy eteiieumm) ommib?

a. AYWL b. AXWX c. AXWL d. AXVL

In a certain code language 'PRAMOD' is written as 'SODJRA'. How will
'KESHAYV be written in that code?

'"PRAMOD ' aesiugy ' SODJRA 'eteor ommmric Lmed ' KESHAV ' e1eiugy) etelioumm)
LOTEILD?

a. NBVFDS b. NBUEDS c. NBVECS d. NBVEDS

1| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




If SHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as
SHARP e eaumibengd 58034, PUSH eiaim  aumjdhensd 4658 616613 6T6uT6001T60
G’ LTe0 RUSH 616013 eunijdHeng 6ihg eTemrenimed 6I(SHLILIBLD?

a. 3568 b. 3658 c. 3685 d. 3583

If Orange is called butter, butter is called soap, soap is called ink, ink is called
honey and honey is called orange, which of the following is used for washing
clothes?

a. Honey b. Butter c. Orange d. Ink

DJEhF eTAILISHM6 OleuamiGemtul eI, OleuemiGlemtul elaTLIHener GFmiiL 6IeTBID,
Gamiy eleTLSHEMET WD GIGIMILD, ML  eTeLHeme CHeir  eTImID, CHeir  6T6GTLISH M6
OTGHF 6IMID DIMPSHHTEL Hiewl Hlewaudd LIWITLG GUTHeT 6157
a. Gaxpenr b. OeuemtGeumru C. SJGhF d. emwo

If sky is called sea, sea is called water, water is called air, air is called cloud and
cloud is called river, then what do we drink when thirsty?

a. Sky b. Air c. Water d. Sea

QUTEUTLD  6TEITLIHENENT  &HL 60  6IeIMID, HL6D  6CIGILISHEME  FHEwI6wiT  6TeIMID,  FHEvT6w0tT
SISILIGHEMET SHTHBMI 6TAIBID, STHBHI eaiLGHmen Csb eaipid, s eaiLgHamer H)
GTUIMID DIMPHHTEL HTHD 61BHGHWD CuTgkl HTD DIHHSH Couewngouigl 61?7

a. GUTEILD b. smBmI C. SHeuwtemiT d. sLed

If water is called blue, blue is called red, red is called white, white is called sky,
sky is called rain, rain is called green and green is called air, then which of the
following is the colour of milk?

a. Air b. Green c. White d. Sky

SHEWIGWIT  CTOILIHENT  [HeVID  6TGIMID, [HeVD  6leiLGHeme  Flaull eTedimid,  Sleuliy
RIS  OleueiTenel GBI,  Olou6TeneT  6IGTLISHEMET  GUTEID  61EIMID,  GUTEILD
G1GTLIHENET  LDGMLD  6TIIMILD, LOGMLD  GTAILISHMGT LIFMTF  6IIBILD, LFeNTF  6T1601LISH6N60T
SMBMI 6TUMILD DIWMPSHSHTEO LITeVI6 [HIBLD  6T65T601 7

a. &MBml b. usems c. Geusitenern d. eurenid

In a certain code, '37' means "which class' and '583' means 'caste and class'.
What is the code for 'caste'?

a.3 b.7 c.8 d. Either 5 or 8

om H8ss Qumpuled ‘37 eaeug “Which class” wBmib ‘583 ereiugy ‘caste
and class’ ereiim @GPEECLBDBTE, ‘caste’ aaibd aTTHmBHmUWIS GHBdbEGD 6Tew?
a. 3 b. 7 C. 5 9bevgl 3 d. 5 9eves 8

The letters L, M, N, O, P, Q, R, Sand T in their order are substituted by
nine integers 1 to 9 but not in that order. 4 is assigned to P. The difference
between P and T is 5. The difference between N and T is 3. What is the

integer assigned to N ?
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L, M, N, O,P, Q R, S g T eem ewdhasisendss 1 WpwHeo 9
auemyuilevment 6TewIH6T (GHMISBLILIGH GBI, LML alflenFWITS Dl6060. 4  6T6IB
otewt P et e1pHHIEG GSNSSLLGSBSEH. P woppid T ssmer elgsHumsd 5
wppid, N wBpiw T ssrer alsbdwngd 3 e, N — && @nldsiiul L
61601 61517

a. 4 b.5 c.6 d.7

In the following alphabet second half is written first and then the first
half is arranged in reverse order. Then which of the following will be the
5th letter to the left of 16th letter from the right?
ABCDEFGHIJKLMNOPQRSTUVWXYZ

Meiteu(hd  elpSHHIB6Med  2-1b uUTgH  (PHEOTEUSHTHAD,  (IPH60 LTS
HSMOBPTHAD  TSLILBEBH  6lelled,  ULFHILBHHD  EHHEH  16-6ug)
SIS SILBSBO 2 _6iTen S-uBHl 1RSS! 61517
ABCDEFGHIJKLMNOPQRSTUVWXYZ

a.S b. T c.P d.F

If L stands for +, M stands for -, N stands for x, P stands for +, then 14 N 10 L
42P2M8=?

L eeug +, M eeug -, N aeiug X wppid P aeiug  + gub @sspal
aiaoiev, 14 N10L42P2 M 8 =?

a. 153 b. 216 c. 248 d. 251

LA Y 4

If ‘+" means “divided by’, - means ‘added to’, " means” subtracted from” and
‘+" means ‘multiplied by’, then what is the value of 24 + 12 -18 +9?

+ GG UGHBHEMEOUD - 6TTLHI Fnl L eneOU|D, X eIl HLHSHHMmEU|LD LOBBID +
aailg QUBGBBMEUWID GBEHBH etefled, 24 + 12 - 18 + 9 a1 wHIY HTewis.
A.-25 B. 0.72 C.15.30 D. 290

If + means +, + means -, - means x , X means +,then12+6+3 -2 x8 =7
+ el@iUgl +, T GG -, - @SB X , X e@ug + eefev 12+ 6+3 -2 x8 =7
a.-2 b.2 c.4 d. 8

If + means -, - means X, + means + and x means +, then15-3+10x5+5=7?

+ eI -, - GTSILG X, T eleilgh + OBE@ID X eteiugl + e 15 -3 +10x5+5 =
?

a.5 b. 22 c. 48 d. 52

In a row of girls, Nithya and Suganya occupy the ninth place from the right
end and tenth place from the left end, respectively. If they interchange their
places, then Nithya and Suganya occupy seventeenth place from the right and
eighteenth place from the left respectively. How many girls are there in the
row?
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@ eauflmguled HHHWT 610IB BUT MSHIUBSHE0 S(HHEH 9-USHTHAD, GFSHGILIT
B BUT BLad  UBSHed BmbEH  10-uSTHeD  SIDTHSGI6eTenenT.  LNevreorT
Beual(HeUBLD QHEUHBOBT(HoUT @@L 1D LTBBISOSTERILIT. SUIOLITIS BUIT BloHaHwm
UG LBSFHO BbhH 17-euFTEead WBPID SeauT QL LBSSeidha 18-
UBHTHAD  DIDTHHIGTENTT  eTefled  Sleleuflengulled o eiten  OLOTSHSH  LoTewTel e 6ot
6160016001 6B ?

a.22 b. 24 c.26 d. 28

Vimal is 7 ranks ahead of Sathish in a class of 39. If Sathish’s rank is
seventeenth from the last, what is Vimal’s rank from the start?

39 wreweuTHeT G@TewiL  auGLLle0, @loed 6TeIB  LomTewIeueTel  HTeullengFuimengl,
FHam ol 7 GLRMFET (POTDISHTEH 66N FHay-ar  Hyeufenguwimerg
sOL AW mHSH 17-0uHTH BHHHTe0, Cel(Hhadl alwelear Hyeuflendg erere?

a.11th b. 13th c. 16th d. 18th

In a class of 35 students, Kamal is placed seventh from the bottom whereas
Sunil is placed ninth from the top. Manoj is placed exactly in between the two.
What is Kamal'’s position from Manoj?

35 oTeTeUTHeT OBTEmIL  UGLILIeL &Hoed eIalfeT FHyalflengd Sl Fuled SmbdI
Tougnaa|lb, gGenedle SHTeufeng (WHelled @ HHEH JusTEad SbhSH.  EeITe)
aailaufall Hrauflens BelalHeuHoHGSD Bl uled o 6Tengl 6eed, &HLelar SHeufleng
wCeTedled E(HHSH THIHMBWTUDHTH 2_6iTengl?

a.’/ b. 9 c. 10 d.12

20. In aclass of boys stands in a single line. One boy is nineteenth in order from both

the ends. How many boys are there in the class?

@ eafemgulsd @8y eau@lienuds OCETeRHIL  OTETUTHT HTBICETERIH  E(HHSHEIT.
SIF0  @H oUW  EHUBHISTNHHHID 19uHTE EHHSTT 6160, DieieuEGLILTed
9 66N LDTEMIAITSHET6 6T60T60NHMS 61611616167

a. 17 b. 27 c. 37 d. 39

LOGICAL REASONING II ASSIGNMENT
Answer key

4 1 5| 6 9

C D B D | D
15 | 16 19 | 20
D|  C|C C | C

10

4 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




